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Statements:

Some T are L. Some L are F.

All F are N. Some N are S
Conclusions:

I. Some L are S.

I1. Some S being T is a possibility.

II1. Some F not being N is a possibility.

(1) Only I and II follow
(2) Only I and III follow
(3) Only II and III follow
(4) All L, IT and I1I follow
(5) None of these
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Statements:
Some T are L. Some L are F.
All F are N. Some N are S

Conclusions:

I. Some L are N. II. Some S are not L.

II1. Some T being L is a possibility.

(1) Only I and II follow
(2) Only II and III follow
(3) Only I follows

(4) All, 1, II and III follow
(5) None of these
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Statements:

Some T are L.

Some L are F.

All F are N.

Some N are S

Conclusions:

I. All N are F.

II.. Some S are N.

II1. Some L being S is a possibility.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) Only II and III follow
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Statements:
Some C are W.
Some W are D.
All D are B.
Some B are A.
Conclusions:

I. Al W are B.

I1. Some A being C is a possibility.

II1. Some D are B.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) Only II and III follow
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Statements:

Some C are W.

Some W are D.

All D are B.

Some B are A.
Conclusions:

I. Some B are W.

II. II. Some C are D.
III. No Ais a C.

(1) Only II and III follow
(2) Only I and II follow
(3) Only I and III follow
(4) All L, IT and 111 follow
(5) None of these
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Most Bxpected 250 Questions (Super Series) §

'Once upon A Time' is written as 'chl ch2 ch3 ch4'

'"Time was in Lucknow' is written as 'ch4 ch5 ché6 ch7’
'Once in A Lucknow' is written as 'ch7 chl ché6 ch3'
'Lucknow was upon Sultaan' is written as 'ch2 ch5 ch9 ch7¢

How will 'Sultaan‘ be written in that code language?

(1) ch7

(2) ch9

(3) ch5

(4) Can't be determined
(5) None of these



Most Bxpected 250 Questions (Super Series) §

4 @Reasoningbybasantsir

'Once upon A Time' is written as 'chl ch2 ch3 ch4'

'"Time was in Lucknow' is written as 'ch4 ch5 ché6 ch7’
'Once in A Lucknow' is written as 'ch7 chl ché6 ch3'’
'Lucknow was upon Sultaan' is written as 'ch2 chS ch9 ch7¢

What will be the words for the code of 'ch2 ch5' in that
code language?

(1) Upon was

(2) Time was

(3) A Time

(4) Can't be determined
(5) None of these
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Most Bxpected 250 Questions (Super Series) §

'Once upon A Time' is written as 'chl ch2 ch3 ch4'

'"Time was in Lucknow' is written as 'ch4 ch5 ché6 ch7’
'Once in A Lucknow' is written as 'ch7 chl ché6 ch3'’
'Lucknow was upon Sultaan' is written as 'ch2 chS ch9 ch7¢

What will be the code for 'Lucknow’ in that code language?

(1) ch7

(2) cho

(3) ch4

(4) Can't be determined
(5) None of
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Most Bxpected 250 Questions (Super Series) §

'Once upon A Time' is written as 'chl ch2 ch3 ch4'

'"Time was in Lucknow' is written as 'ch4 ch5 ché6 ch7’
'Once in A Lucknow' is written as 'ch7 chl ché6 ch3'’
'Lucknow was upon Sultaan' is written as 'ch2 chS ch9 ch7¢

What will be the code for 'In' in that code language?

(1) ch3
(2) chS
(3) ch7
(4) ch4
(5) None of these
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S, T, U, V, W, X, Y and Z are sitting in a straight line equldlstant BPS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.



1
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Mbst Expected 250 Questions (Super Series) o

uyy S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant 8PS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.

How many persons in the given arrangement are facing North?
(a) More than four

(b) Four
(¢) One
(d) Three
(e) Two

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) o

uyy S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant 8PS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.

Four of the following five are alike in a certain way, and so form a
group. Which of the following does not belong to the group?

(A W, X

b)Z,Y

©T,S

@T,Y

(e) V,U

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) o

uyy S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant 8PS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.

What is the position of X with respect to Z.?
(a) Second to the left

(b) Third to the right

(¢) Third to the left

(d) Fifth to the right

(e) Second to the right
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Mbst Expected 250 Questions (Super Series) o

uyy S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant 8PS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.

Who amongst the following sits exactly between Z and W?
(@) T

b)Y

)X

dW

(e) U

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) o

uyy S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant 8PS
from each other (but not necessarily in the same order). Some of them
are facing south while some are facing north.

(Note : Facing the same direction means, if one is facing north then
the other also faces north and vice-versa. Facing the opposite
directions means, if one is facing north then the other faces south and
vice-versa)

S faces north. Only two people sit to the right of S. T sits third to the
left of S. Only one person sits between T and X. X sits to the
immediate right of W. Only one person sits between W and Z. Both
the immediate neighbors of T face the same direction. U sits third to
the left of X. T faces the opposite direction as S. Y does not sit at any
of the extremes ends of the line. V faces the same direction as W. Both
Y and U face the opposite direction of Z. 19.

Who is sitting 2nd to the right of T?
(a) Z

(b)V

(0)X

(d)W

(e)None of these

4 @Reasoningbybasantsir
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D is daughter of N. E is wife of N.

G is sister of D. C is married to G.

N has no son. K is mother of E.

Q is only daughter of C.

D, N aﬁaﬁ% E, N hY Uet 21

G, D Y T&T 2| Cwmcﬁgan%l
I N amﬁ-s‘usrq%"r | K, E T

] Q, C st st et 21

How Q is related to D?
(a) Daughter

(b) Cousin

(¢) Niece

(d) Sister in law

(e) Cannot be determined




4 @Reasoningbybasantsir

D is daughter of N. E is wife of N.

G is sister of D. C is married to G.

N has no son. K is mother of E.

Q is only daughter of C.

D, N aﬁaﬁ% E, N hY Uet 21

G, D Y T&T 2| Cwmcﬁgan%l
I N amﬁ-s‘usrq%"r | K, E T

] Q, C st st et 21

How N is related to K?
(a) Brother-in-law

(b) Cousin

(¢) Son in law

(d) Sister

(e) Brother
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D is daughter of N. E is wife of N.

G is sister of D. C is married to G.

N has no son. K is mother of E.

Q is only daughter of C.

D, N aﬁaﬁ% E, N hY Uet 21

G, D Y T&T 2| Cwmcﬁgan%l
A amﬁ-s‘usrq%"r | K, E it

7 Q, C i gkt 3t 2
How many daughters N have?
(a) One

(b) Three

(¢c) Two

(d) Cannot be determined
(e) None of these
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There are six wires in a table A, B, C, D, E and F they have differen®?s
length but not necessarily in the same order. E is greater than C but
less than D and B. A is greater than D and B. A is not longest wire. F
1s 13 cm. long and E is 4 cm. long.

g A, B, C, D, E 3R F ITehT TS TAT-TEAT & AAThT
?RF&H%'T%E FA T 2N E, C ¥ T2TE ARET D 3R B A BIETRI A, D
3R B A TST 2 Wwwﬁr% F 13 ﬁﬁr% FET § 3R E 4 9 31

AdT|

If D is Scm less than F what would be the length of D?
(a) 7

(b) 8

©9

(d) Can’t be determined

(e) None of these
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There are six wires in a table A, B, C, D, E and F they have differen®?s
length but not necessarily in the same order. E is greater than C but
less than D and B. A is greater than D and B. A is not longest wire. F
1s 13 cm. long and E is 4 cm. long.

BEARE A, B, C, D, E IR F 3ThT aTg STAT-3TeAT & AfehT
?RF&H%'T%E FA T 2N E, C ¥ T2TE ARET D 3R B A BIETRI A, D
3R B A TST 2 Wwwﬁr% F 13 ﬁﬁr% FET § 3R E 4 9 31

AdT|

Which wire has least length?
(a) B

(b) A

(c) C

(d) E

(e) None of these
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4 @Reasoningbybasantsir

There are six wires in a table A, B, C, D, E and F they have differen®?s
length but not necessarily in the same order. E is greater than C but
less than D and B. A is greater than D and B. A is not longest wire. F
1s 13 cm. long and E is 4 cm. long.

BEARE A, B, C, D, E IR F 3ThT aTg STAT-3TeAT & AfehT
?RF&H%'T%E FA T 2N E, C ¥ T2TE ARET D 3R B A BIETRI A, D
3R B A TST 2 Wwwﬁr% F 13 ﬁﬁr% FET § 3R E 4 9 31

AdT|

If A is 10 cm. length and B carry 5 cm. length then what would be the
length of C?

(a) 6

(b) 2

()7

(d)9

(e) None of these



Most Expected 250 Questions (Super Series)
M, N, O, P, Q, R and Sare seven people live on seven different floorsg®s
of a building but not necessarily in the same order. The lower most
floor of the building is numbered 1, the one above that is numbered 2
and so on till the topmost floor is numbered 7. Each one of them have
different income i.e. 3500, 15000, 7500, 9000, 11000, 13500 and 5000.
(But not necessarily in the same order.) M lives on an odd numbered
floor but not on the floor numbered 3. The one who has income of
11000 lives immediately above M. Only two people live between M
and the one who has income of 7500. The one who has income of
15000 lives on one of the odd numbered floors above P. Only three
people live between O and the one who has income of 15000. The one
who has income of 7500 lives immediately above O. R earns 4000
more than Q. The one who has income of 3500 lives immediately
above the one who has income of 5000. Only one person lives between
N and Q. N lives on one of the floors above Q. Neither O nor M has
income of 9000. Q does not has income of 7500.

|
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M, N, Q, P, Q, R 3T & {Td &IRT Ueh SHRA <hl ATA T 3TT
m@%ﬁ%aﬁﬁ%gﬁwﬁﬁlmﬁmﬁaﬁnﬁﬁ
TRIT &, 38k S ATeA | HiSTeT okl shHieh 2 foar man g &
sﬁmw@rmnﬁﬁﬁm7ﬁmw%mﬁﬁmsﬁw
3T 3T & AT 3500, 15000 7500 9000, 11000, 13500 3T 5000 .

g&ggmqﬁﬁsgﬁm M%rwawmﬁnﬁam@m%
HiTeT T 3 UX TE 311'&11000%6‘5’M I%FIT

21 M TR 31T AT A<k oh o<l hd ot &f ST<h 7500 a»‘rl
mlsoooa%azp%w%wmmﬁ ﬁﬂ%-’
3R 15000 mmﬁ—qﬁﬁ%aﬁa%ﬁ?ﬁ'—rﬁﬁﬂwﬁm
7500%%0%ﬁmww%mm Q 4000
m3500%a€wwﬁsa§aﬁsﬁw 3:|W5000 |Naﬁ1

ehacT Ueh A<k &1 8l N, Q o 30X HIRTeT U TEaT 2
:r?ﬁ o ﬁ?qﬁqhiﬁaﬁam%(m% (?zl?ramrﬁoo %%l



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18?S
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
How much income M has?

(a) 13500

(b) 5000

(c) 7500

(d) 15000

QREL

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18S
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
Which of the following combinations is true with respect to the given
arrangement?

(a) 13500 -0

(b) 15000 - R

(c) 5000 -S

(d) 11000 - P

() 9000 - N

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18S
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
If all the people are made to sit in alphabetical order from top to
bottom, the positions of how many people will remain unchanged?
(a) Four

(b) None

(¢c) Two

(d) One

(e) Three

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18S
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
Which of the following statements is true with respect to the given
arrangement ?

(a) The one who has income of 5000 lives immediately below M.

(b) R has income of 15000.

(¢) None of the given options is true.

(d) Only four people live between P and S.

(e) S lives immediately below Q.

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18?S
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
Who amongst the following lives on the floor numbered 2?

(a) N

(b) The one who has income of 3500

(¢) The one who has income of 5000

dP

(e)R

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) d

M lives on an odd numbered floor but not on the floor numbered 3.18PS
The one who has income of 11000 lives immediately above M. Only
two people live between M and the one who has income of 7500. The
one who has income of 15000 lives on one of the odd numbered floors
above P. Only three people live between O and the one who has
income of 15000. The one who has income of 7500 lives immediately
above O. R earns 4000 more than Q. The one who has income of 3500
lives immediately above the one who has income of 5000. Only one
person lives between N and Q. N lives on one of the floors above Q.
Neither O nor M has income of 9000. Q does not has income of 7500.
How much income R has?

(a) 13500

(b) 5000

(c) 7500

(d) 15000

QREL

4 @Reasoningbybasantsir
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A & C (44m) — A is 36m west of C. S
A % C (30m) — A is 38m north of C.

A #C (51m) — A is 43m east of C.

A$C20m)-— A is 28m south of C.

X&P(14m); Q#R(12m); W% V(4m); U&V(17m); UST(-
1m); T#S(12m); R%S(-3m); Q$P(0m).



Mbst Expected 250 Questions (Super Series) d

4 @Reasoningbybasantsir

A & C (44m) — A is 36m west of C. ~EES
A % C (30m) — A is 38m north of C.

A#C (51m) — A is 43m east of C.

A$C20m)-— A is 28m south of C.

X&P(14m); Q#R(12m); W% V(4m); U&V(17m); UST(-
1m); T#S(12m); R%S(-3m); Q$P(0m).

What is the direction of S with respect to P?
a) South east

b) North west

¢) South west

d) North east

e) None of these.



Mbst Expected 250 Questions (Super Series) o
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A & C (44m) — A is 36m west of C. BES
A % C (30m) — A is 38m north of C.

A#C (51m) — A is 43m east of C.

A$C20m)-— A is 28m south of C.

X&P(14m); Q#R(12m); W% V(4m); U&V(17m); UST(-
1m); T#S(12m); R%S(-3m); Q$P(0m).

What is the shortest distance between X and V?
a) 8m

b) 15m

¢) 10m

d) 25m

e) None of these.
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Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269



Most Expected 250 Questions (Super Seried o
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Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

In the last step, which number is 3rd from the right
end of the given input?

a) 41
b) 16
¢) 14
d) 18
e) None of these
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Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the sum of last three numbers in step IV of
the given input?

a) 30
b) 58
¢) 46
d) 40
e) None of these
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Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which number is 4th from the left end in step II of the
given input?

a) 1129
b) 1159
¢) 1126
d) 2936
e) None of these
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Most Expected 250 Questions (Super Seried o

Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the absolute difference of the 3rd number

from right end in step III and 2nd number from the left
end in step III?

a) 37

b) 26

¢) 25

d) 20

e) None of these
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Input: 56148 34195 41683 63215 52197 Bt
Step 1: 14568 13459 13468 12356 12579

Step I1: 1158 1129 1138 1106 1149

Step I11: 0048 0028 0028 0006 0048

Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which among the following is the first number from
left end in step IV of the given input?

a) 08

b) 10

¢) 16

d) 18

e) None of these
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Q&#1?T@WIY%24Z*& % 6SS5@IJTE@3?8H4 &8

Step 1: If each letter in A-Z alphabetical series is represented by a
number 1-26 respectively, then only composite number in the series is
replaced by the alphabet as per its represented number

Step 2: If each letter in A-Z alphabetical series is represented by
number 1-26 respectively, then only last 13 letters of A-Z alphabetical
series is replaced by a second digit of its represented number. (For e.g.
M — 13, then it is replaced by 3)

Step 3: Each prime number is replaced by the number which is greater
than it by two.

Note: All the operations are applied individually and not step by step.

How many times numeric 9 will appear in the new series?
a) None

b) One

¢) Two

d) Three

e) Four

4 @Reasoningbybasantsir
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Step 1: If each letter in A-Z alphabetical series is represented by a
number 1-26 respectively, then only composite number in the series is
replaced by the alphabet as per its represented number

Step 2: If each letter in A-Z alphabetical series is represented by
number 1-26 respectively, then only last 13 letters of A-Z alphabetical
series is replaced by a second digit of its represented number. (For e.g.
M — 13, then it is replaced by 3)

Step 3: Each prime number is replaced by the number which is greater
than it by two.

Note: All the operations are applied individually and not step by step.

Which of the following will be the correct position of numeric 4 in the
new series?

a) 12th from the left

b) 15th from the left

¢) 1st from the right

d) 17th from the right

74 @Reasoningbybasantsir e) 20th from the right
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Step 1: If each letter in A-Z alphabetical series is represented by a
number 1-26 respectively, then only composite number in the series is
replaced by the alphabet as per its represented number

Step 2: If each letter in A-Z alphabetical series is represented by
number 1-26 respectively, then only last 13 letters of A-Z alphabetical
series is replaced by a second digit of its represented number. (For e.g.
M — 13, then it is replaced by 3)

Step 3: Each prime number is replaced by the number which is greater
than it by two.

Note: All the operations are applied individually and not step by step.

How many pair of identical alphabets are there in the new series?
a) One

b) Two

¢) Three

d) Four

e) None

4 @Reasoningbybasantsir
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Step 1: If each letter in A-Z alphabetical series is represented by a
number 1-26 respectively, then only composite number in the series is
replaced by the alphabet as per its represented number

Step 2: If each letter in A-Z alphabetical series is represented by
number 1-26 respectively, then only last 13 letters of A-Z alphabetical
series is replaced by a second digit of its represented number. (For e.g.
M — 13, then it is replaced by 3)

Step 3: Each prime number is replaced by the number which is greater
than it by two.

Note: All the operations are applied individually and not step by step.

How many prime numbers are there in the new series?
a) Three
b) Four
¢) Six
d) Seven
e) Nine
4 @Reasoningbybasantsir
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Step 1: If each letter in A-Z alphabetical series is represented by a
number 1-26 respectively, then only composite number in the series is
replaced by the alphabet as per its represented number

Step 2: If each letter in A-Z alphabetical series is represented by
number 1-26 respectively, then only last 13 letters of A-Z alphabetical
series is replaced by a second digit of its represented number. (For e.g.
M — 13, then it is replaced by 3)

Step 3: Each prime number is replaced by the number which is greater
than it by two.

Note: All the operations are applied individually and not step by step.

How many such symbols are there in the given series which are
preceded and followed by a number?
a) Two
b) Three
¢) Four
d) Five
7 @Reasoningbybasantsir €) More than five
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